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BACHELOR’S DEGREE PROGRAMME

Term-End Examination
December, 2012

ELECTIVE COURSE : COMMERCE
ECO-7 : ELEMENTS OF STATISTICS

Time : 2 hours Maximum Marks @ 50

Note :  There are three sections and all are compulsory.

SECTION - A
1. Fill in the blanks with appropriate word (s) given
in brackets. 5x1=5
(@ ____ can be determined with the

help of ogive (Median /Mean).
(b)  Primary data are called data.
(first hand / second hand)
(c) A bar signifies (area / length)
(d) is always expressed in terms of

b percentage (varience / co-efficient of
oy variation).

Sambos

Co  (e) A discrete variable is the result of

(measurement / counting).

2. State whether the statements given below are
true or false. 5x1=5
(@) Inacensus investigation all the units of the
population are investigated.
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An exclusive frequency distribution has

non-overlapping class limits.

Negative values cannot be presented using

a simple bar diagram.

Mode of a set of data cannot be greater than

arithmetic mean.

Standard deviation is always Computed

from mean.



SECTION - B

Attempt any two of the following : 8+7

3. (a)

Prepare a frequency distribution by
exclusive method starting with 5 - 10 :

6 21 5 20 33 10 10 30 45 7 19 37
17 .20 19 28 11 20 30 26 20 43 15 5
37 36 27 26 12 19

(b) Explain the process of constructing a
cumulative frequency graph.
4. (a) Calculate the value of median for the
following frequency distribution : 10+5
Class : 60 - 62163 - 6566 - 68|69 - 71|72 - 74

Frequency : 17 39 48 34 12
q y

(b)
5. (a)
ECO-7

The mean weight of 150 students of a class

is known to be 60 kg. The mean weight of
the boys is 70 kg while the mean weight of
girls is 55 kg. Estimate the number of boys
and girls in the class.

The following data relates to the goals scored
by team A in a football season : 10+5

No. of Goals scored in amatch: [0]1][2[3

No. of Match played : 11917153

For team B, the arrange number of goals
scored per match was 2.5 with a standard
devaition of 1.25 goals. Find which team is
more consistent in its performance.
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(b) For a given data, Q1=58, Md=59 and
(Q3=61. Find the co-efficient of skewness.

6.  What is sampling ? Explain briefly the various
methods of sampling. 3,12
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SECTION - C
7. Distinguish between any two of the following :  5+5
(a) Histogram and Historigram
(b)  Primary and secondary data
(¢)  Discrete variable and continuous variable

(d) Dispersion and skewness
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gHtem.-7

e Sy wEded
qATd e
foaa, 2012
tfeo® qEIHRY : dIfud
et - 7 : Wit & q@
THg ;2 g2 S7fihaq 37 : 50

Fie . 39 4 div @ue & aur g4t st €1

s - A
1. Frewd fu sl # A swdE e g i T

i R R 5x1=5

(aj WﬁWW(ogive)ﬁWW
Y foran <0 WAl g1 (eI / AIEA)

(b) Wi SHS R HiHS Hel Sl
B (difess / @A)

() T&F TUE (bar) 3@ FT@T & |
CEVASE)

A wfawa % w9 § weiia feu
s ¥ (e / e o)

() UH @fed T (discrete variable)
=1 qftom B (W09 / TTOAT)

ECO-7 7 P.T.O.



2. 93¢ fF Fefafaa § 4 o0 @ s @ oiv 2
@ T 5x1=5
(a) UF HIUM (census) A& ¥ TaE 1 gHe
THTSA] T AT a1 S

(b) T AT (exclusive) 3T 7 =1 o g
AT Bt & |

() THTHE el 1 Fiderea U weet gve st
& TN BRI T feran S weR |

(d) TRt ot wHe Teg o1 Yfass Sq¥ T e
A arfer T 8 e

(€) W Tt =1 ufther gaen omeg @ & fipany
AL
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Que - B

frefefaa & @ =l gt wel & s fafew 847
3. (a) Tr=ifeifEa ol & enum w5 - 10 9§ yrey
X g AT TG T Tk AgRa sred gy

6 21 5 2033 10 10 30 45 7 19 37
17 20 19 28 11 20 30 26 20 43 15 5
37 36 27 26 12 19

(b) HeEl sgfa Yafed &1 = w5 yiEar
AT oy |

4. (a) Fmfafed smfa 9e7 & fow oo & qe
1 UM FHIFT - 10+5

i |60-62(63-65]66-68/69-71(72-74
dqgfa | 17 39 48 34 12

(b) T el o 150 forenfef=i =01 wrem 9w 60 fereim
g1 M H WeHl w1 we ¥R 70 Ty 2
Stefer TTgfRal &1 H1ed WK 55 fareiom 31 79
el TISH 1 S R ! HT T T Hw

5. (a) Trefafan siee w geae o & 99 A
SR T T et & waifed § 10+5

T B H fry M il e [0]1(2]3]4
EERILE:ECa ke 119|7(5]3
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2 B % ferg, wia T fow o el &1 @
Her 2.5 ot 991 39 1 4 fa=ed 1.25 T
o1 Fg 9 sifae fo fee dm @ foamea
37U Hd (consistent) 2

(b) feuw Tu emEweSl # Q1=58, Md=59 T Q3=61
? 139§ J9H Uik (Co-efficient of skewness)
1 ShifeTe |

6. Ufa=@d (sampling) ¥ &1 a9d 87 uid=ad &0t 3, 12
fafys fafuai =t dera o =amen i)
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@ug - C

freAforted § 9 fFgl of § Sia Jary 545
(a) oA fo qen shiferss o=

(b) Wt qen fodiaes a5

(c) @fed =X (Discrete variable) d1 r@fed =

(Continuous variable)

(d)  eTafeRor aun due
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